


Ejercicio2 : Calcula el polinario de Taylor

~Oa) f(x)=x
-
x3 +21a=0 + a= 1,n

=2

& (8 , %)(x) = f(0) + fax +2x
f(0)= 2

f'(m) = 4x3 -3x2 = 8%
= 0

f"(n)= 12x
26x = f"(0) = 0

=> P(fid(a) = 2++n=2
↑

Ejemplo : B(+ 2x -1 , 07(2)

= 3n3 + 2x- 1

Pr ( <n+33+2x-10) (2)--=2n
-⑩ Sin

--
el mismo

Ej : Pp( < /2-121-111, 1) ()
= (n -1)-2(x - 1)2 + 1



P2 (2)a+2 , 1) (2)
= f(1) + 8'()(x - 1)+(2)(x -12

f(1) = 1- 13+ 2 =2

8'(w)= <x3- 3ar un8'/)
= < .
1-3 . 12 = 1

-"() = 12x2 -6x 28(1)
= 12 . 12- 6 . 1 = 6

=> Pz(x" - x3+ 2 , 1)(2)
>

= 2 + 1(x - 1)+ (x - 12

= 2 + (x - 1) + 3(x - 1)2

Ejecio3 : f(n)-ecosa)-sin(a)

a) Haller el poliromio dr Melanin
de ordens.

Ps (S, 0)(n)= f(0)
+ 8% x+..

- + 825
f(o) = 0 . (s(0)-Sin10) =0

↑



g(m)= (nc)(m) -sin(a))' = cos()+ x(sin()) -xu)
=-usink)

= gld =0

fi = Emsink)) = (1) sini)-e(cosma)(
=

- Sin(n) - ucos(n)

=> f() = -Sin(o) - 0 . (a)(0)=0

fin = (sin()-ncs)) = -cos(m)
- cost) -m(-sien)

= -2((n) +xSin(n)

= f(z)(0) = -2c((0) +0. Sin(0) =
-2

-

"

fa(n) = C-2()() +xSin(n)
=
-2(-sink)) + Sinin) +aco)(m)

= 3 Sin(n) +x(a(n)

- 86) = 3Sin(o) +o. cos(0)= 0
&



g(s(= (3 sinch) +acosm)
= 3001 (n) + w((w) +n(sin(n)

= <c) (n) -uSink)

=> fi = 4010) -0. Sin (0)

= 4

Ps(a-Sin() , 0)(n) =

0 + 0 . n+-
5

-
-1x3+1x -I p3

inmestrem extrem

Pop: Pn (f+g , a) (2) relativo eno

= Pn(f ,a)(w) + Pn(g , a)(2) ↓
en(a(n)-Sin()

tenpoco tiere
extreno relatio

en 0.



a) Calcula
el limile :

↳(2)

a
xS

ot


